1. ¥*-8x¥2+12=0

2. x—-4Jx+1=0

3. xX6+5x3=24

4, x2—}{—§—

5. 9°-12x3"+27=0

W=

A

[A/.;(z 5\,”5 VLQ’QV\ rie=<
(M ~6)lw-1)=°
A= L o 2
So 2=b o 22
o=+ 0d o= T+Ja

U = I5¢ : Wh-lenar] =0
CA~L)Z/ = o
w= 2+ {3
Joe= 2~ 13 o2 240z
=) L= @,~@)L -?DL':@J@)L
= F -4 i o 1
W= abrfn= 2% =2

QJVF?)(V\/@\ =Y
w- & “m = 3

)| JCEhs oz 23

7(Lt*— i =F e
7LL‘ S N
wz b s wtta-lE e
(\/\/C))(u\)rl\ =0
\/\';-&| AN— N =1L
DEE= 2o -3 %L‘,”'L No | v~
><( Su\«\/—‘v )
W= 12wy L3 =0 %23 0 =
QJ\_BMV\FC\\ =P g"(;a\ ) [ 9C(=[2

WnW=3% o w=19



LT
6. x®—79x* =162 W =2
A — al
O(Lt ’;?‘
w0 = BW ",é
2 -1 \/3
7. 3x5 =5x3+2 U= X

\
- wWz.2
3
7c\/}/ -} T > 7
3
2t =— "_L 20 ::g
8. 9" -82x3+9=0 il
QV\“/ 3% , 17N = 7% = 9u”
pML —§f21Ar U =0
@V\’) )(v\~‘\) =0
\
W= — w =1
g
L= -7L H=Z
9. x—Vx=12 n=J Wo— w —\1 =0
Q/\ﬂ‘-f\(vwﬁ) =0
w=Y4% o =3
Lie=Yy Jre = -3 ><
=L
10.x-10Vx+2+24=0 A= Jnrs _
/7 7(*17—3—@
~ o} 22 =0 1_\0WA =0 :
@Q—z> [0y +2 + =) 22 xe) = 20-(053
QU\—‘g.\’L"g =0 7&:—7_6“’(0\6
= &+ {3 A = G 3

K= 26+1083



